
7 x 6 = .

8 x 5 = .

7 x 4 = .

2 x 3 = .

9 x 2 = .

11 x 8 = .

66 ÷ 6 =           .

56 ÷ 7  =           .

18 ÷ 3 =           .

Year 5 Homework B – 9th February 2024

Perimeter

Multiplication

Shape

9 x 12 = .

7 x 11 = .

12 x 10 = .

4 x 9 = .

71 x 1 = .

99 x 0 = .

96 ÷ 8 =           .

55 ÷ 1 =           .

321 ÷ 321 =           .
Reasoning

Remember to also have a go at TTRS, 
Spelling Shed and Lexia (if you have it)! All 
links are on the class page.

Forgotten your login? Let me know!

Fractions
Subtract these mixed numbers.
Remember: Convert to improper fractions, and then 
find a common denominator. 

a)

Calculate the perimeter of 
this shape.

b)

Measure the size of each angle.

A greengrocer is packing strawberries into 
punnets.

They pack 6 punnets and fill 
3

7
 of another.

They drop  
13

14
 of a punnet.

How many punnets of strawberries are left?
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